Leader

LR 2478

SYORIUNTEITY
RACK MOUNT ADAPTER

HUREREAE
INSTRUCTION MANUAL

-4 BTttt
Leader Electronics Corporation

T223-8505 fR)IEEEHEILXMHSR 2-6-33
URL: www.leader.co.jp Email: sales@leader.co.jp Tel: 045-541-2122

2-6-33 Tsunashima-higashi, Kohoku-ku, Yokohama-shi, Kanagawa, 223-8505, Japan
URL: https://leaderphabrix.com



W2 ZE(CTERWZIZEL 2o (C
GENERAL SAFETY SUMMARY

TRICTRIFERLOES - FEFIAE. FREOCSE - £a(CH I DBERELVERDIES - HLRRETBITDIHD
BEDTY, T TERDES - FEFIEETD CERSIEE,

Review the following safety precautions to avoid operator’s injury and loss of life and prevent damage and
deterioration to this instrument. To avoid potential hazards, use this product as specified.

Agj"i/WARNING

m FANRUICEATISRESESEIE Warning Concerning the Screws

FEARUE, HAHITRICK > TIHREDEES LURESDEDZEFER L TLIZE, BESORUZFERTS
CHRRBARCEEZREFL. NK, BE. BE BHREDFEREMRDET,

Use screws of the specified type and length according to the assembly diagrams. Using other screws

may adversely affect the unit and can cause fire, electric shock, malfunction, accidents, and so on.

Ai‘ 2/CAUTION

m HAHITICEATISDESFEIE Caution Concerning Assembly

AU TORR, IREDTYZETIINZITDIHENNAHBDFEIDT. +FER U THAILTTL S,
Exercise caution during assembly to prevent injury, such as from the edges of the metal plate.

B RUEDMT NLOICRET DFEEIR
Caution Concerning the Screw Tightening Torque

RUIFEOHICEN ST, TROMDMHT NLIICHD TR TIZEW, HONBNEEHFZEECET, &
fo. BHBED W OUZEED. WINEEDRRERDET,

Fasten the screws according to the tightening torque of Table regardless of the shape of the screw
head. If the tightening torque is too low, the screws may come loose. If it is too tight, it may lead to
breaks or elongation and can cause a malfunction.

IEUME  Nominal Diameter DT BILY  Tightening Torque  (N-cm)

M2.5/ M2.6 41.2
M3 59.8
M4 147.0

M5 294.0




1.

2.2

(FZU&IC INTRODUCTION

COIEE. U—AF-—BFOHERESBEVLIFOWZEEELT, BICHDNEDTTNET., BRERSe
[CTEAWZIEL Tz, ZHEARTICARIGEIIAEZREFE THHAVZIZE, BADIEUWMEWSZ IR
RO L. ZEALIZEL,

Thank you for purchasing LEADER’s product. Please read this instruction manual carefully to
ensure correct and safe operation.

Ttk SPECIFICATIONS
BIE General

AREE. EIACKEEFIHER)ICELUZ 19 1> F Sy ICEHHRRZRDITD DS v I I
NFZHTHTY,

The LR 2478 is a rack mount adapter used to attach Leader's products to a 19-inch EIA
(Electronic Industries Alliance) standard rack.

SToHEFE  Applicable Models

LT 4600A, LT 4600, LT 4400, LV 7330



2.3

Z~T3ER Mounting Dimensions

® LV 7330 & LT 4400 fEHE0OEHI

Example combination of LV 7330 and LT 4400

236 426 81 236
T .
== T T,'
[P oz [Ty I
J 456,71
{85) (85)
— — -===n -
M ] i ] 1 X\ E
i (= : U
a:[ g
I f 0 i :L: ﬁ
i
04 U
i
] 3 | [
[
il
I E U U H
g o 0
0 0Onan R I
O] ® ® U 3 ﬁ
. ] U
g [] U
K
[-]
8 ®
® o =
J@ @ © ® — L Im 3&‘ —
soze i o
(859 4654 185) /
g ﬁ"@""ﬁ%ﬁﬁlﬁ-_u-: T~ ||Cj o E ‘@ é
& =0 DR O Ll d e
25 213 | 213 28 | 9

* [FE(CEN D TEARIIC LV 7330 ZBMDMIFECEETEFT.

You may also infix LV 7330 on the left side.




® LV 7330 2 5DHEAENEHI

Example combination of 2 units of LV 7330

235 426 235 _
I B .
1Yo | == | 1 =2 W
r - - 456.2 - - ﬁ!
18.5) {85)
= ] (I ﬂ
il
: 3
il
IR 4]
| U o ﬁ
il
i
i
1!
ononannd 7 os °@
® ® g 0 &
" U 1 ﬁ
mi
i
il
[
R [
ik
436 ¢ %
® ® ® ® " &Ig
| = O\,H_L—,l I
482+ ! jg 7
551 165 (85) -
& | "@ CEET T FEO | %@ CEEEEEHEEEEE O &d 3
28 213 ’L 213 28 ]




2.4 WA Contents

ARBITEROBRTEREINTVET, HAITCRICHED T, EEULSHEAIITTSIZE,
The LR 2478 consists of the parts indicated below. Assemble the parts correctly according to the
assembly diagrams.

&5 X ez HE A RENLIE
Symbol Figure Item Name Qty. Material Finish
. =fEoOx—k~
ZaA> b (X%1) )
a ] 2 SPCC Trivalent chromate
Joint ) )
conversion coatings
S - =floOxX—k
° PERPZNESY) )
b o ) 1 SPCC Trivalent chromate
3 Joint . )
conversion coatings
. =ffioOX—k
Z3A> b (%2) ]
c . 1 SPCC Trivalent chromate
Joint ] )
conversion coatings
- =ffioOX—k
ZaA> b (%2)(%3) ]
d ) 1 SPCC Trivalent chromate
Joint ] )
conversion coatings
. =ffioOX—k
ZaA> b (%2)(%3) ]
e ) 1 SPCC Trivalent chromate
Joint ) ]
conversion coatings
=ffoOX—k
RFw b .
f 2 SPCC Trivalent chromate
Plate Nut ) .
conversion coatings
3 =fioOxX—bk
U7Y7R— bk .
g 2 SPCC Trivalent chromate
Rear Support ) ]
conversion coatings
. =ffoOX—k
e N .
h 2 SPCC Trivalent chromate
Slide Rail
conversion coatings
. =fio0OX— bk
AC H7/R— b
i 1 SPCC Trivalent chromate
AC Support ) .
conversion coatings
) Sy IHR— b B
J 2 A6063S-T5 ]
Rack Support Paint




o] Bic] e HE A RELIE
Symbol Figure Item Name Qty. Material Finish
‘ N> RIRU M3x8 15 i ZwTb
Binding-head Screw M3x8 Steel Nickel plating
I\ > RIvRL M4x10 13 i ZwTb
m
Binding-head Screw M4x10 Steel Nickel plating
N> R M5x16 4 #H —wolb
n
Binding-head Screw M5x16 Steel Nickel plating
% ML M3x8 . | ® —viL
P Flat-head Screw M3x8 Steel Nickel plating
RN R 4 Fro>
a E=—————— i Tying Band Nylon
Tyvs>y 5 Fa0O>
r -
Edge Protector Nylon
EREREAZE 1
Instruction Manual
%1 LV 7330 & LT 4600(A)/4400 ZHAAFENHETEDAIFD ESHMERALUEEA.
You do not need 1 for infixing LV 7330 and LT 4600(A)/4400.
%2 LV 7330 % 2 BHEAFEDETEDMIFD EEI0. LT 4600(A)/4400 &= 2 EHEAFEHE TERD(HTD & (3HE
AUEEA.
You do not need %2 for infixing 2 units of LV 7330 or infixing 2 units of LT 4600(A)/4400.
X3 T3> b (d). (e) (& LV 7330 & LT 4600(A)/4400 OERDFIFIECK D T. EE5WRAZRFERALE

ED

You need either (d) or (e) depending on how LV 7330 and LT 4600(A)/4400 are infixed.
(on either side those units are infixed)




3.2

AL C  ASSEMBLY

JFE5EIE  Notice

AEG(FEITE 500~650mm DSV I ICHIGLTWET, EENDS Y OICERDAFIFSnEL
A}O
The product must be within 500~650mm in depth to be fixed to the Rack.

WHIRIHESLIUERZ S Y IREABE LT ZEU,

BIE LIRMBEDBBICDNTI(E. BEEZEVINRET.

Please be sure to fix the front and the rear to the Rack firmly, otherwise, we could not be
responsible for any damage or injury incurred by this.

#{F Preparation

AEGBOEAITICEUATOIENVETY, BEHRESGTTAHARSIZE,
For infixing a LV 7330 in a Rack Mount Adapter, following tools are required. A customer is
requested to prepare the tools for himself.

cTISARSAIN(2B) Screwdrivers for cross recessed head screws (type2)
FR Gloves

cwEBIERU X MR Antistatic wrist band

KAEDEFE=Y)> T, AC 7H T 5% DC ATIHTFMSIRNTLEE0,
After powering off, take off the AC Adapter from the DC terminal.

ACHR—k (i) CTwv=>T (r) ZEADFIFET .
Attach the edge protector (r) to the AC support (i).




3.3

HHAHIICTFIE (LV 7330 & LT 4400 DfEAFENTE)
Procedures for infixing LV 7330 and LT 4400 within a Rack

CCTIFERmICEND THEAIC LV 7330 ZE DG 2FIEZERUET .

LV 7330 (&, IEE(CEMN> TEAIICERD IR EBTEEY,

Here Assembly Procedure is described for fixing parts on the right side facing the front of LV
7330. We could fix parts on the left side in the same way.

R, FRBAICIE LT 4400 ZHEA UL TWLWEI M, LT 4400 %= LT 4600(A) [CHiHBEXDEICKD T, LT
4600(A) BEFRICHAAII T TEET,
Although LT 4400 is used in the explanation, LT 4600(A) can be assembled in the same way by
replacing LT 4400 with LT 4600(A).

1. LV 7330 5. KU (4 &) &8 (4 &P 2B UET,
Take off the screws and foots on the 4 locations of LV 7330.




2.

LT 4400 5. B (4 &Pr) ZEDHULET.
Take off the foots on the 4 locations of LT 4400.

-

LV 7330 &£ LT 4400 Z=31> b (c) &3> b (e) THELT. UFPHR—-k (9) &5vo
HiR—b (§) ZEDHTET,

We fix (combine) LV 7330 and LT 4400 by tightening the screws (c) and (e) firmly on the
units, then, fix Rack Support (j) on LT 4400 and both Rear Support (g) and (j) on LV 7330.
EE(CE > TERIC LV 7330 ZEDFIFDHEE. 30> b (e) dRDDICZ3r> b (d)
ZERALTZE0,

In case you fix parts on the left side, you are requested to use (connect) (d) instead of (e).

;q'f




4. LV 7330 & LT 4400 [CAS1 RL—)L (h) ZEDFFT. XRS50 RL—JL (h) [CACHR—= (i)
ZEDMITET,
Fix Slide Rails (h) on LV 7330 and LT 4400 and, then fix an AC Support (i) on the Slide
Rails.
AS54 RL—)L (h) OEEMEF. SV IRMEDEITE(CENDETIZE,
The position for fixing a Slide Rail (h) must be decided according to the depth of the Rack.

5. ACHR—b (i) [CREF/I\>R (q) TACTZITHZRDFFITHS, SYIRBEANBELET .
Fix AC adapters on an AC support (i) with tying bands (q).

10



3.4

HHAHIITFIE (LV 7330 2 E@DHEAFENE)
Procedures for infixing 2 units of LV 7330 within a Rack

C CTIFERBRIC LV 7330 ZERA UL TWLWEIM. LV 7330 Z LT 4600(A)/4400 (CFHRABEZDZEICLD
T. LT 4600(A)/4400 ERARICHAIITCTEEFT.

Although LV 7330 is used in the explanation, LT 4600(A)/4400 can be assembled in the same
way by replacing LV 7330 with LT 4600(A)/4400.

1. LV 7330 5. KU (4 &) &8 (4 &P ZEb4UET,
Take off the screws and foots on the 4 locations of LV 7330.

11



2. LV73302&B%EZ31>h (a) £2aa> b (b) TEAELT. UPBR—bk (9) &Sy oHR—
b () ZERDMHFET,
Combine (fix) the 2 units of LV 7330 by tightening the screws (a) and (b) firmly on the 2
units.

12



3.

LV 7330 (LRS- RL—JL (h) ZED{HFIT. XS RL—JL (h) (CACHR—k (i) ZED{T
[FET. ACHIR—b (i) ([CREF/I\> RTAC TPHTHEMDLSIFTTHS. SYIREKNEELUFE
ER

Fix Slide Rails (h) on each of LV 7330 and fix an AC Support (i) on the Slide Rails then, fix
AC adapters on an AC support with tying bands.

XS4 RL—JL (h) OEEAIEE. SV IRKDEITEICENDETIIZE,

The position for fixing a Slide Rail (h) must be decided according to the depth of the Rack.

13



Following information is for Chinese RoHS only

EEE8EEYHRER
S LR 2478

®

bR A TE TR R A 1 H S 7 i, AR FE20064E2 H 28 H AR

CHTAE B i Pl B IME) LLST/T11364-2006 € L1557 s 4
BRI RER) , FoRizrm M Ef e T A . MRS
AR, REESy 5 WA iz S AEH L ZET, s H AR e
FHTRNIIERRN, P2 A P2 ARG Y N T P2 52

PR IE A8 SRR B R MR TR B R R R AR OGE A .
TEYIE & S BUF =5

7 i A R TV BT R 1A PR

AT 44 R HEAEYREUTR Hazardous Substances in each Part
Parts Y 7R & NS ZIRIR Z IR KTk
(Pb) (Hg) (Cd) (Cr (VD)) (PBB) (PBDE)
BN X o o o @) O
B4 O O @) O O O
(Y @) O O O O O
- SEP)
O: FINZATFH Y AT B AR & B I7EST/T11363-2006 FiE IR SR LT
X FOREGH A FYR TR BAOTEZ 00— S8 T R b 1 & Sl ST/ T11363-2006
AR E I PR 3K

Ver. 1

Jan. 21, 2025 Ver. 2

14



	1. はじめに　INTRODUCTION
	2. 仕様　SPECIFICATIONS
	2.1 概要　General
	2.2 対応機種　Applicable Models
	2.3 外形寸法図　Mounting Dimensions
	2.4  構成内容　Contents

	3. 組み立て　ASSEMBLY
	3.1 注意事項　Notice
	3.2 準備　Preparation
	3.3  組み立て手順 (LV 7330とLT 4400の組み合わせ) Procedures for infixing LV 7330 and LT 4400 within a Rack
	3.4 組み立て手順 (LV 7330 2台の組み合わせ) Procedures for infixing 2 units of LV 7330 within a Rack


